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e Please check that this question paper contains 34 questions.
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T 3397 :
[TEAAIGT 59T #1 €IHYES TIGT 3K FTHT GIcid Hiforg :

(1)

(i)

§22)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

59 J97-97 4 34 Y97 & | @At yv7 erfdard & 1
J97-97 qie @US] 8 fa91f5id 8 - @Ue &, @, T, 909 & |

GUE & - J97 G&IT 1 21 FElaeheq1d JhR & T97 & | Jd% Jo7 1 3% B 3 |

QUE W& — §I7 G&I 22 & 27 TY-ITHIT JHR & J97 8 | Fe9F J97 3 3] #7183 |
Jee 97 T I 60 T 80 551 H 1c71&T |

TUE T — Y97 GEIT 28 T 30 TH-FIT (LA) IHR & F97 & | I T97 8 37h1 &7
& | ek 97 %7 37X 300 & 350 o] 7 forfew |

EUE 7 — Y97 &I 31 & 33 1 3T drict Gid-EIRd I & | Icdb G
4 37 FT 3 |

GUE & - Y97 G&I] 34 THITA-TITRA 97 & 15784 qeeaqul giemr aeqail #1 9=
3R T I & | T8 397 5 37H] H 8 | FAGT Hl I-GIasT & a1 i T &1 |

J97-97 § GuT by 787 1337 =T 8 | IEf, @vs &, T a9 7 § Ak abey H
a7 1397 7T 8 | Riemef w1 57 gel 7 @ [ vh Y97 7 I forg 7T 8/

$T% ST, I & I gicanaa wiemidEl & o7e lel @oT Fted $7le ST
Il @ T W T S T 1597 T & | §7 ] & I daer gheantad wiandT &
for@ |

Wusg <h
(TE et TR & T9) 21x1=21
feu U foeheul # 9 3@ weg ¥ foa waM 61 gfd HINT :
TR TR fafem, 1935 & dgad Fatfea faunfesmd % e |
M HL Tl A |
(A) YR TEE g
(B)  Hfee™ i

(C)  INufafses e
(D) gfaue g4
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Fill in the blank with the appropriate word from the given options :

The legislature elected under the Government of India Act, 1935 operated
within the framework of

(A) Indian National Congress
(B)  Muslim League

(C)  Colonial Rule

(D) Constituent Assembly
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2. Tr=fafaa fagifeat 4 9 forea 3o wew o fafesr sAfeprl & el W hsaTT L
T 3t 1857 o R faaTel 1 fged < foau ‘= wea’ | wea fean 2

(A) @ HA
(B) Hiedt SAgHGe M8
(C) T
(D) F* 7
3. S SqeEd i HEfaRad § ¥ wH-H TEEqul srareE o ?

(A)  FieRt it W Tl aAfer fier m

(B) 3T A Een forami & dueh foparm |

(C) 39 Ul 3 Tiarel SHerEl o YHE i SErl |
(D) 39 UM o THUTHEEEY SHs-gaehd | &1l gU |

4. Gfgum gw & F=fafgd e § 8 fraa &6 o gfaum i & 9o
Y T AN hH kT STRER gaedH o 2
(A) AR, gorrt (B) WE <l
(©) Sfh. g (D) TASH. Tm

5. = ®yd U M, AfUemeH (A) IR S (R) | bl €AHYES dfeU 3R
& Toehed T =R—F <hIfST ;

SHFHIT (A) : IHIT A b1 AR foedr =13 & foru miefish 3 fgemwa
e o T 71y fren fow |

FROU(R):  THSH ol I off Toh 318N 3R Racha i dfesh &9 4
et snufafsres smaa 1 31 foren S wehar 2 |

ICET I
(A)  AMYHAT (A) 3 SR (R) ST Tl 8 3T HRU (R), 3AHeH (A) i
g M1 LAl © |

(B)  AMeheM (A) 3R HWOT (R) SHI T& &, g IR (R), ATHH (A) i
&l AT FgT hidl & |

(C) AYRYE (A) T& 8, 9g HI0T (R) Tad 7 |
(D) M (A) TTerd 8, W HIOT (R) T8 8 |
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2. Who among the following rebels took over the bungalow of a British
official and turned it into a ‘hall of justice’ to settle disputes during 1857
in Uttar Pradesh ?

(A)  Shah Mal

(B)  Maulvi Ahmadullah Shah
(C)  Gonoo

(D)  Kunwar Singh

3. Which one of the following was a significant criticism of the Permanent
Settlement ?

(A) The Zamindars got the permanent rights on the lands.
(B)  The British contacted the peasants directly.
(C)  The system increased the influence of tribal communities.

(D)  This system resulted in Bombay-Deccan riots.

4. Who among the following members of the Constituent Assembly made a
strong plea for Hindi to be used as the language of constitution-making ?

(A) R.V. Dhulekar (B) Shankarrao Deo
(C)  G. Durgabai (D) N.G. Ranga
5. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : To broaden the Non-Cooperation Movement, Gandhiji had
joined hands with the Khilafat Movement.

Reason (R): Gandhiji hoped that coupling Non-Cooperation and
Khilafat could collectively bring an end to the Colonial
rule.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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6. TAY I U WY 11 ¥ i 3T 9&) faerca 1 =74 <hIfTT -

&7y [ &7y I
(T35 & F14) (qi7eT)
1. S et () i fifa i SEeTa i
2. dle sAgNI (i)  wEFh |y 6w hHit
3.  dic dlih (ii) T HRQHT i IE3TE I
4.  dfE gIten (iv)  gawes il i IeeTa i
foehey
(A)  1-Gid), 2-(31), 3-1), 4-1v) B) 1-Gv), 2-(Gii), 3-(G1), 4-(1)
(C)  1-G1), 2-(1), 3-(iv), 4-(ii1) D) 1-G), 2-(iv), 3-(iii), 4-(i1)
7.  TfaRaa =1 wrespd | Safed Hife iR 98! fashed 1 ==+ hIRT
(i)  YREEA R
(i) I HEI
(i) Hre fogie
(iv) ~ SFeIg-gFeRd gl
forepey
(A) (), (iid), (@), (iv) (B) (@), (i), (Gv), (iii)
(C)  (ib), (iv), (1), (1) (D) Gw), (iid), (1), (ii)
8. TG o QA UTHIUT T b ST o G&g H Tal I 1 TI hHIIT
Gl g4l 11
(777) (F1%)
(A) Hedgdel  —  TId S R
(B) HheH ~ ¥
(C) % S IEES
(D) HAEE —  fram
9. fmfdfad ¥ & SHH-A1 SR OITR FHTST o qa- T G&I HRUT 1 ?

(A) 3Taies gud 3 oA & g Tedad & @19 TeeEd
(B) dTciiehlel H SIS, STEHETR 3R McAHS! i B

(C) TooTT R g & AR AR rdegardn § vl fiwee
(D) YAt 3T B e o1 s o ATk
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6. Match Column I with Column II and choose the correct option :
Column I Column II
(Name of the Viceroys) (Role)
1. Lord Wellesley (i) Introduced annexation policies
2. Lord Dalhousie (ii) Introduced Subsidiary Alliance
3. Lord Bentinck (iii) Introduced greased cartridges
4, Lord Hardinge (iv) Introduced reformative polices
Options :
(A)  1-Gid), 2-(31), 3-1), 4-1v) B) 1-Gv), 2-(iii), 3-(G1), 4-(1)
(C)  1-Gi), 2-(1), 3-(iv), 4-(ii1) D) 1-G), 2-(iv), 3-(iii), 4-(ii)
7. Arrange the following in chronological order and choose the correct
option :
) Limitation Law

(i1)  Sunset Law
(iii)) Santhal Rebellion
(iv) Bombay-Deccan Riots

Options :
A) (D), (1), (@), (v) B) (@), (ii), (Qv), (iii)
(C) (i), Gv), (1), () (D) (), (1), (1), (i1)
8. Choose the correct pair regarding the profile of rural people during the
Mughal period :
List I List 11
(Name) (Profile)
(A) Mallahzadas - Village Headman
(B) Mugaddam — Banker
(C)  Shroff — Boatman
(D) Muzarian — Peasant

9. Which one of the following was the main factor that led to the decline of
the Vijayanagara empire ?
(A) Internal conflicts and alliance with the Sultanates against
Vijayanagara.
(B)  Defeat of Bijapur, Ahmadnagar and Golconda in Talikota.
(C) Heavy decline in trade and economy of the Vijayanagara empire.
(D) Invasion of Portuguese and French on Vijayanagara.
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10. frfafgd # @ forges ‘omafashfaa @ & vl 4 dfvem o gqrifiei & T
figperaTg o fagra ot foefya e shi Jwom & 2

(A) dX HgE

(B) W&l SRR
(C) 3Ad SN
(D) W gredl

11. 37T 3R] & dcd 4 Ffoifga 0 @ sib-a1 sea @gl 8 ?
(A) BT, HEZ T HHFHT h dEd Seg (Third Book) 7 |
(B) TNI-STETE TITal o ANTHER INTTEE o Hefed 8 |
(C) TouTg-smaTd grett % M TR UiER & HeEfd 7 |
(D) Hoh-AETG A FTHST o fociid Jge] § Faed 7 |

12. ¥ I 1 e w9 11 9 hifse 3R gt faened 1 === Shifsw .

&y [ &y IT
(1) (€)
1. &9 R W i ()  dfiremrg #
2.  Toeram gfw Gi) oo o
3.  FER Al (i) SR H
4.  Th3E AR (iv) aRH
ICETR

(A)  1-(i), 2-(iv), 3-(1), 4-(iii)
B)  1-(i), 2-(1), 3-(iv), 4-(iii)
(C)  1-(i), 2-(iii), 3-(iv), 4-(1)
(D) 1-Gi), 2-(1), 3-(iii), 4-(iv)

13. fm=fafed @ @+ 3R gud & Avleys & ?
(A) G THRgE Famr-u-feeett
(B) 3@ g fawet
(C) @ T fawdt
(D) @ FemggH e
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10. Among the following, whose description of ‘degenerated East’ inspired
Western theorists to develop the idea of ‘oriental despotism’ ?

(A) Peter Mundy

(B)  Francois Bernier
(C)  Duarte Barbosa
(D)  Marco Polo

11.  Which of the following statements is correct regarding Ain-i-Akbari ?
(A) Akbar Nama was the third book of Ain-i-Akbari.
(B) Manzil-abadi deals with the civil administration of the Mughals.
(C)  Sipah-abadi deals with the imperial household of the Mughals.
(D)  Mulk-abadi deals with the fiscal side of the Mughal empire.

12. Match Column I with Column II and choose the correct option :

Column I Column I1
(Temple) (Location)
1. Hazara Rama Temple (i) Tamil Nadu
2. Chidambaram Temple (ii)  Vijayanagara
3. Brihadishvara Temple (iii)  Belur
4. Chennakeshava Temple (iv)  Thanjavur
Options :

(A)  1-(Gi1), 2-(iv), 3~(1), 4-(iii)
(B)  1-(Gi1), 2-(1), 3-(iv), 4-(iii)
(C)  1-Gi1), 2-(ii1), 3-(iv), 4-(1)
(D) 1-Gi), 2-(1), 3-(iii), 4-(iv)

13. Who among the following was the mentor of Amir Khusrau ?
(A)  Shaikh Nasiruddin Chiragh-i-Delhi
(B)  Shaikh Muinuddin Chishti
(C)  Shaikh Salim Chishti
(D)  Shaikh Nizamuddin Auliya
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14. T=fafga 9 @ fora wiwn # sra-foefl 9 9d o 9%, qTit 3TR JTehd. q&dehi

%1 IFATE e 2
(A) Bl (B) ISt
C) 37 (D) fedlt

15. fr=fafad & 9 sF-a1 et w61 guferd 7 2
(A) odarE - T ¥ o faaw
(B) dfgfdare - T TR9 hl 3 dfcadn
(C) wEIYSH JAT — JdAdliaeh Ha9 GG o HEA
(D) g4 ¥ — Th ©f o 3h 9id

16. §g o fqU T o 1 TEEAT | Hell-Act! hl TG HiTT |

(A) TYR sl et
(B) WY el At
(C) WY el el
(D)  3TIEd! Hedl et
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14. In which of the following languages has Al-Biruni translated Sanskrit,
Pali and Prakrit texts in India ?

(A)
()

Persian (B) Arabic
Urdu (D) Hindavi

15. Which of the following pairs is correctly matched ?

(A) Endogamy - Marriage outside the unit
(B) Exogamy — Man having several wives
(C)  Polygyny — Marriage inside the unit
(D) Polyandry - Woman having several husbands
16. Identify the school of art with the help of the given image
Buddha.
(A) Gandhara School of Art
(B) Mathura School of Art
(C)  Sarnath School of Art
(D)  Amravati School of Art

61/1/2-11
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I :  [AFICIRGT F97 FcT gleeamera aagntdal & /0 9. §. 16 & € T & :

g Feffga & @ fopd o9 & wafia 9 2
(A) T (B) whigdA
(C) ¥ (D) U
17. 9 I &1 e w9 11 9 HifSu iR 92 fSeres =61 == hifva .
roct ) &7y 11
(gt @t gid @) cico,
1 T Tam 1) YT &1 Ydleh
2. Tk (i) Y9 drh
3. Sl (i)  Fg 1 IBAT U
4. TS (iv)  HgHRfTsaH
ICETR
(A)  1-(Gid), 2-G), 3-(iii), 4-(Gv) B)  1-(1), 2-(ii), 3-(iv), 4-(iii)
(C)  1-(iv), 2-(iii), 3-(ii), 4-(1) D)  1-(iii), 2-(iv), 3-(), 4-(ii)

18. A &l T&dsh ‘gya @fzar fafefga & @ foem favg w enenfa 2 2
(A) AR B) faferean (1)
C) @ (D) T

19. & T8 IHKRRI hl HEEAT U UIA WA o W% i YA <hifog 3TN g&t
faercd 1 === it

o 3T TgMIfuY hi 3urfer fedt |
o 35 TqUI % TTT §g o TRV o X foraiid fhT |
o  JE g WEeh o T Teerl i Tyl W Ty A |

T -
(A)  FHLI (B) ®Yadd
(C) %geHd (D) 3=
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Note : The following question is for the Visually Impaired Candidates, only

17.

18.

19.

in lieu of Q. No. 16 :

Which of the following clans did Buddha belong to ?
(A) Sakya (B) Kosala
(C) Bhoja (D) Pala

Match Column I with Column II and choose the correct option :

Column I Column 11

(Sculpture of Sanchi) (Symbolism)
1 Empty Seat (1) Symbol of good fortune
2 Wheel (ii)  Auspicious symbol
3. Shalabhanjika (iii) First sermon of Buddha
4 Gajalakshmi (iv) Mahaparinibbana
Options :
A)  1-G1), 2-(1), 3-(ii1), 4-1v) (B) 1-G), 2-(i1), 3-(iv), 4-(iii)
(C)  1-Giv), 2-(ii), 3-(ii), 4-(1) (D) 1-Gii), 2-(iv), 3-(1), 4-(ii)

Sushruta’s book ‘Sushruta Samhita’ is based on which of the following

theme ?
(A) Grammar (B) Medicine (Ayurveda)
(C) Astronomy (D) Mathematics

Identify the ruler of ancient India with the help of the given information

and choose the correct option :

e He got the title of Devanampiya.
e He distributed a portion of Buddha’s relics for stupas.

e He was the first ruler who inscribed messages on rocks and pillars.

Options :
(A) Samudragupta (B) Harshavardhana
(C) Rudradaman (D) Asoka

61/1/2-11 Page 13 of 23

P.T.O.



NN\

20. Y9Gl Tod % 91 # FEfdaigd e W e Hifve R w@@ famed &1 ==
iR

(i) 98 950w =i sl T ot |

(i)  3HeRI foaTg SehTesh WTHH o A1y §3T T |

(i)  3IGehT ETEAT W Tada feehr o |
(iv) 384 AN hl YU-HeH fear |
IEETS

(A) (), (i) 3R (iii)

(B) (i), (iil) 3R (iv)

©) (), (i) 3R (iv)

(D) (@), (i) 3R (iv)

21. ESUT JUESAT § WATSag Hiv ol a8 3T=s1 | MEfiiad | d hiH-81 o7 ?
(A) MR

(B) HIEl
(C) TErEl
(D) I3
QU @
(FTg-3THT TR & T9) 6x3=18
22. (%) “7Eryra U Tasia TU 7 |7 39 S hi ™G g HINT | 3

HAAAT

(@) 7ETyRad & THIARHTHS TERU ol dIR & & w& § fagmr &t

YfHehT =T faeryor SHifT | 3

23. “HIY AWHTSY % 35T I AT (8™ I Teh Hewd Ul hid HHT SI1dT & |7 39
T I T FHINT | 3
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20. Consider the following statements about Prabhavati Gupta and choose
the correct option :

) She was the daughter of Chandragupta Maurya.
(i1)  She was married to a Vakataka ruler.

(iii)) She had independent access to resources.

(iv)  She gave land grants to people.

Options :

(A) (1), (i1) and (iii)

(B) (i), (iii) and (iv)

(C) (), (iii) and (iv)

(D) (), (i) and (iv)

21.  Which of the following was the best source of lapis lazuli in the Harappan

sites ?

(A) Nageshwar
(B) Manda

(C) Rakhigarhi
(D)  Shortughai

SECTION B
(Short-Answer Type Questions) 6x3=18
22. (a) “Mahabharata is a dynamic text.” Justify the statement. 3

OR

(b)  Analyse the role of scholars in the task of preparing the critical
edition of the Mahabharata. 3

23. “The emergence of the Mauryan empire was regarded as a major
landmark in the Indian history.” Explain the statement. 3

61/1/2-11 Page 15 of 23 P.T.O.
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24, foomaw s & fThaed § fafim ot sAfgde awi &1 8 et T 2
3TN Afgd T <hifoe | 3

25. ‘Ot ST H TG B B TRST hl TG <@ Al AT |7 FH HAT h

3ETET |fgd gfee i | 3
26. (%) 1857 &1 fagIg foviy &9 & a9 o &1 Hetm ? T HIRT | 3
rorEt
(@) 1857 ® Tagifedi gR1 I <1 T8 HIVUMC A9 o qff delehl & Tehdl ol
MR T L Tl off 2 Tuse e | 3
27. 1813 I uiadl faid it mHT=ATCHS W@ i | 3
Qug
(-3 TR R 6 T9T) 3x8=24
28. (%) “TSHT FWAl H HEH MG UgA IBU hal bl fohE o |7 TR
HIT | 8
rora
(@) g 6 @ | fafi= quacafagi sl gffenr @i v HIf | 8
29. (%) HIHIH IRA § foFmRa Wow <t g fomivarsti shi sme Hife | 8
roran
(@) 3u, itk 3R AR T T HeR hl Rremsti i saren FHifle | 8
30. (%) ‘URd BT AT & HRUN TR TSN hl W@ HINT | 8
rorat
(@) TS a1 3R TSl U o &9 H TS hl oI Y{HehT hl 7@
HIT | 8
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24.

25.

26.

27.

28.

29.

30.

How were the different and unique elements added in the fortification of

Vijayanagara empire ? Explain with examples.

“The villages in the Mughal empire were seen as Little Republics.”

Support the statement with examples.

(a)

(b)

Why was the Revolt of 1857 specially widespread in Awadh ?
Explain.
OR

Why did the rebel proclamations in 1857 appeal for unity to all
sections of the population ? Explain.

Critically examine the Fifth Report of 1813.

(a)

(b)

(a)

(b)

(a)

(b)

61/1/2-11

SECTION C

(Long-Answer Type Questions) Ix8=24

“The most unique feature of the Harappan civilization was the
development of urban centres.” Explain.

OR

Explain the role of various archaeologists in the discovery of
Harappa.

Explain the main characteristics of the Lingayat tradition during
Medieval India.

OR

Explain Kabir’s teachings on love, devotion and inner realization.

Examine the causes and events of ‘Quit India Movement’.

OR

Examine Gandhiji’s political role as a leader and social reformer.
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(Tra-3meTiRa U9) 3x4=12
31. fqu v &a i eaHgEs qfer R = fou U ww i o IW iR - 1+1+2=4
e fafem e 2

1440 o &3 ¥ foT@l 7T 3T6gY W1 ol AT AT HelTl N Fe=IEHT
Teh U= THYU 8 | Th AR i H hlcihe (STMYMHH HIShIS), FTeUME W
3G 1 Q@ 3W IRIEA T8 A, 98T TH AN 9H gT A SRl sheddr H
Feft off 7E Y oft 17 31 A R 3T U “fafe e Sam |

HIATR H AT TR IS & S 98 WA 1, R gfgendt = &t IR
feparT | 8T 38 Ush Hfe e@n e 38 yeren & ) faan -

e | A i & ffa §, 57 T v ned qEr St R fave # e
2 | I8 IR AT Torehl Tc3eh WS o1 €8 T, SdTs dre T off 37 i
IR GRASH o WA, T T& ¥ & gY Hi¥ H <ol g3 A7 | YWGR
RIS H | sl o+t Tk HqId oft ST HHE ARl SR qAT HATGHHRE off | 3R
gHIT 3@l | ShIct TT & T Sa-1 TIqus & @ 7T o foh It gram o |t
I8 <@ Tehdl & | 30 f3eq 3 HRT & FA1 FE |

(31.1) 3TegL Tooleh 4 WA ol ‘faf= 20 =i gl ? 1
(31.2) U @A H YieHTd 3R grond Y gfafafrsa gt 8 2 1
(31.3) 3TegL TG o HIGIR o UfReHl ®e & HiGU o1 v fohd TohR e
8?7 2
32. fqu U &d I eaHgEs qfer iR = fou U ww i & IR G 1+1+2=4
“gfza faser o oo =g sme &

mide geaay Id 3 FsaEae anies s W SR fea |

AR hl ThAAT o foTT Saferd sl STTCHTIITER T STl sl ITNET0T ST BT |
Alhdd H ATk 1 79 fTT &9 qen i o fofu Smer fhsh el =Ry |
g} e shad Ts¥ W whigd B =iz | afe foret Aehas ° 3ma ufaeqeff
o W@ ¢d & A1 UHl e @l W od & NEH iy SAfad A g A
Y W G A hl T e AT 37 Tzl hl S ot wamg 781 L,

Tl UG SAehda 1 a1 HiTad 7 |

(32.1) U = TAIhaA hl AHAAT hl Foil T JUM fhd TR TohaT & 2 1
(32.2) U = A H IACH-STIRITEA <hl Shell i hyl THATYT foham 7 2 1
(32.3) WIhad 3TN THIAI o Sid a9 T 4d b IR hl SRS HitWT | 2
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SECTION D
(Source-Based Questions) 3x4=12

31. Read the given source carefully and answer the questions that follow :
1+1+2=4
A strange nation ?
The travelogue of Abdur Razzaq written in the 1440s is an interesting
mixture of emotions and perceptions. On the one hand, he did not
appreciate what he saw in the port of Calicut (present-day Kozhikode) in
Kerala, which was populated by “a people the likes of whom I had never
imagined”, describing them as “a strange nation”.
Later in his visit to India, he arrived in Mangalore, and crossed the
Western Chats. Here he saw a temple that filled him with admiration :
Within three leagues (about nine miles) of Mangalore, I saw an
idol-house the likes of which is not to be found in all the world. It was a
square, approximately ten yards a side, five yards in height, all covered
with cast bronze, with four porticos. In the entrance portico was a statue
in the likeness of a human being, full stature, made of gold. It had two
red rubies for eyes, so cunningly made that you would say it could see.
What craft and artisanship!

(31.1) Why did Abdur Razzaq call India a ‘strange nation’ ? 1

(31.2) How do emotions and perceptions reflect in this source ? 1

(31.3) How did Abdur Razzaq describe the temples of the Western
Ghats in Mangalore ? 2

32. Read the given source carefully and answer the questions that follow :
1+1+2=4

“There cannot be any divided loyalty”

Govind Ballabh Pant emphasised to become loyal citizens.
For the success of democracy one must train himself in the art of
self-discipline. In democracies one should care less for himself and more
for others. All loyalties must exclusively be centred round the State. If in
a democracy, you create rival loyalties, or you create a system in which
any individual or group, instead of suppressing his extravagance, cares
nought for larger or other interests, then democracy is doomed.
(32.1) How has Pant described the key to the success of democracy ? 1
(32.2) How has Pant defined the art of self-discipline in democracy ? 1
(32.3) Explain Pant’s views on the relationship between democracy and

equality. 2
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33. fou u Ea @ eamyEs ufew it fi= fiu o ye &% I i 1+1+2=4

EER W alg a¥

%d%/?/deh g 7 U 39 300 H gg T T % T TR TEdfd Sl §eE o
ATfeTeh Bl 37U ARt 3T HHTTRAT hl UTH & H S@HTA ] ATMET. .. Ikl
FUAT % FIHN 378 W b, 3o WIS 3N AAGH o, AR g4 T Ih!
ARl ek, Ik |1 GEATg HISH SRl I THI-HHT W 30 Fel ahl...
$c o AN Dl 919 @ ° 777 (N8 amEieEs Sfed & & @ g§) iR
SR <h! Q@Y il ATMEY... HH, F= AR 7T ¥ I g, 37 @Nd |
FHIM B Gol Wt AR 3! Tga-ufafes i srewat shi gfd e |

e st wran-fuan, foiere 3 ufl & 91y =¥agr & fou off w8 & S9ew fou

T E |
(33.1) g 7 HHINIH USHSHH H HEUT o Hewd ol ohdl ISR bl 2 1
(33.2) §g 7 HGER W 5 1 g ? 1
(33.3) g o ITIAR HH & Tohral al gl hl ST HITT | 2
wus g
(e -amenia ue ) 5
34. (34.1) WA % fCu U TSHIfae WE-AART (T8 23 W) H, F=faRad @i

3UIh Tl § 3ifeha hIfT TR 3eh A ToaiRaT 3x1=3

(i) SFEl, Toh ge0 YU

(i) STHUEdl &qU

(iii) (%) S (PreA = 37efT &)

HAAT

(iii) (@) SR (gat & 3ref &)
(34.2) WRA % 3H TSI WW-HHRT W ARG TS T o Teied

T hegl Bl A 3R B © 3Iiford foram TRIT § | SoR1 UBSNHT 3T 3k

T 9 3eh e Gidh T8 W@t W fafEu | 2

I :  [AFICIRGT F97 HacT FleaTard qaemiaal & 77 ¥, 4. 34 & &7 WE :
(34.1) YRA o Tohedl QI Silg T T i@ T | 2
(34.2) (%) faaTR gawT 61 AU &1 Sear@ i |
Jrera

(34.2) (@) Tl AT o 31efiA foheft U & &1 Seoi@ I | 1
(34.3) YNNI TH G o Tohal & gl &1 Ieci@ HIfGY | 2
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33.

34.

Note :

Read the given source carefully and answer the questions that follow :

1+1+2=4

Buddhism in pratice
This is an excerpt from the Sutta Pitaka, and contains the advice given by
the Buddha to a wealthy householder named Sigala :
In five ways should a master look after his servants and employees ...
by assigning them work according to their strength, by supplying them
with food and wages, by tending them in sickness; by sharing delicacies
with them and by granting leave at times...
In five ways should the clansmen look after the needs of samanas (those
who have renounced the world) and Brahmanas : by affection in act and
speech and mind, by keeping open house to them and supplying their
worldly needs.
There are similar instructions to Sigala about how to behave with his
parents, teacher and wife.
(33.1) How did Buddha highlight the significance of compassion in social

hierarchy ? 1
(33.2) Why did Buddha emphasise righteous action ? 1
(33.3) Explain any two tenets of Karma according to Buddha. 2

SECTION E
(Map-Based Questions) 5

(34.1) On the given political outline map of India (on page 23), locate

and label the following with appropriate symbols : 3x1=3

(i) Banawali, a Harappan site

(i1) Amravati stupa

(i1i) (a) Agra (Territory under the Mughals)

OR

(iii)) (b) Ajmer (Territory under the Mughals)
(34.2) On the same outline map, two centres related to the Indian

National Movement are marked as A and B. Identify them and

write their correct names on the lines drawn near them. 2
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :
(34.1) Mention any two Buddhist sites in India. 2
(34.2) (a) Mention the capital city of Vijayanagara empire. 1

OR

(34.2) (b) Mention any one territory under the Mughal empire. 1
(34.3) Mention any two centres of the Indian National Movement. 2
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